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1. ROFERZMT. (S50, AR1520%, Bi#FK2520%, C#H3530%)

(1) logyxz =3

(2)  logi(z—1)=2

(3)  logy (2% —2) =logy
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2. XoFGERZMT. (S0, A15208, B#2520%, C#H3530%)

(1) loggz = -2

(2)  logi(1-2)=5

(3)  logy (1 —2?) =logyx
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1. ROFERZMT. (S50, AR1520%, Bi#FK2520%, C#H3530%)

* WHAERX EBRG 20 TRUICHREL T L.

(1) log, x =3
KEHGAMLD >0
LA € x>0 2D logyz = 3log, 2
< x>0 logyz =log,8

S z>0»D =28
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(2) logi (z—1) =2
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S r>1,o log% (z—1)=log )2
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(3)  log, (22 —2) =log, x
*EESHLED 22-2>022>0 © >V2

5/ & z>V2ho2-2=z
z>V2hO 2 -z —-2=0
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ROPFFEREM@T. (S50, Afk17520%, B#27320%, C#HK35330%)

(1) logsx = —2
KEBEMELD >0

L & >0 2D loggz = —2logy 3
& x>0 5D loggz = logy 372
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(2) logy (1 —x)=5
KEHEMNED 1-2>0 & z<1

GHBRA & o<1 logy (1-1)=>5log
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(3)  logy (1 —2?) =logyx
KEFSGMHELD 1-22>0222>0 © 0<z<l1

558X & 0<z<1dPo1-22=2
& 0<z<ldPOz242-1=0
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